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>T>D (PERCENTAGE)

	100 I gFjpahff; nfhz;lgpd;dk; rjtPjk; vdg;gLk;.

	tpfpjk;  5 : 100  17 : 100 43 : 100

 gpd;dk; 
5

100
  

17
100

  
43

100
 rjtpjk; 5%  17%  43%
	xU gpd;dj;ij (m) xU jrk vz;iz rjtPjkhf khw;Wtjw;F 100% My; ngUf;f 

Ntz;Lk;.

1.  
�
�

 I rjtPjkhf khw;Wf

 5 I 20 My; ngUf;f 100 fpilf;Fk;

 3 20
5 20
×
×

 = 60
100

 = 60%

       3
5

 = 60%

2.  
��
�

 I rjtPjkhf khw;Wf. 

 16
4

 =   25
4

 4 I 25 My; ngUf;f 100 fpilf;Fk;

 25 25
4 25
×
×

 =   625
100

 = 625%
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3.  250 khzth;fs; cs;s xU gs;spapy;>  55 khzth;fs; $ilg;ge;ijAk;> 75 

khzth;fs; fhy;ge;ijAk;> 63 khzth;fs; vwpge;ijAk; kPjk; cs;sth;fs; 

fphpf;nfl;ilAk;  tpUk;Gfpd;wdh; vdpy;.

 (m) $ilge;ij  (M) vwpge;ij tpUk;Gk; khzth;fspd;  

    rjtPjk; vd;d?

  nkhj;j khzth;fspd; vz;zpf;if   =  250

 m) $il ge;ij tpUk;Gk; khzh;fspd; vz;zpf;if =   55 

  250-y; 55 Ngh; $ilg;ge;ij tpUk;Gfpd;wdh; 
55
250

  vdf; Fwpg;gplyhk;.

  $ilg;ge;ij tpUk;Gk; khzth;fspd; rjtPjk;  = 
55 100 %
250

 × 
 

 M) vwpge;ij tpUk;Gk; khzth;fspd; vz;zpf;if =  63

  250- y; 63 Ngh; vwpge;ij tpUk;Gfpd;wdh; vd;gjid 
63

250
   vdf; Fwpg;gplyhk;.

  vwpge;ij tpUk;Gk; khzth;fspd; rjtPjk; = 63 100 %
250

 × 
 

             =   
126 %

5
                =  25.2%
  $ilg;ge;ij tpUk;Gk; khzth;fs;     =  22%
  vwpge;ij tpUk;Gk; khzth;fs;         =  25.2%

4. ��%I gpd;dkhf khw;Wf.

  12%  =   12
100

          =   3
15

5. 
���� %
�

 I gpd;dkhf khw;Wf.

 1233 %
3

 =  700 %
3

             =  700 7
3 100 3

=
×

   =  12
3
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6. 1000 fpNyhtpy; 20% I fhz;f.

 1000 ,y; 20%  =  1000,y; 20
100

   = 20 1000
100

×

   = 200 fp.fp.

7. 200 ,y; 
� %
�

 fhz;f.

   =   

1
2 200

100
of

   =   1 200
20 100

×
×

   =   200 1
200

=

8. 40 fpNyh fpuhkpy;  0.75% fhz;f.

  0.75%    = 0.75
100

 40 fpNyhfpuhkpy; 0.75%  =  0.75 40
100

×

     = 3 0.3
10

=

     = 0.3 fp.fp 

9. 70 Ngh; nfhz;ltFg;gpy;> 60% khzth;fs; vdpy; khzt khztpfspd; 

vz;zpf;ifiaf; fhz;f.

 nkhj;j egh;fs;    =  70 

 khzth;fspd; vz;zpf;if = 70 ,y; 60%

     =  
60 70

100
×

     =  42
 khztpfspd; vz;zpf;if = nkhj;j khzth;fs; − khzth;fspd; 

          vz;zpf;if = 70 - 42 = 28
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10. 2015-y; xU efuj;jpd; kf;fs; njhif 1>50>000 mLj;jMz;by;> mJ 10%	
mjpfhpf;Fkhdhy;> 2016 -y; kf;fs; njhifiaf; fhz;f.

 2015-y; kf;fs; njhif =  1,50,000

 mjpfhpf;Fk; kf;fs; njhif  =  10 1,50,000
100

×

     =  15,000

 2016 -y; kf;fs; njhif =  150000 + 15000
     =  1,65,000

11. 2 &gha; 70 igrhtpy; 15 igrh vj;jidrjtPjk;?

 2 &gha; 70 igrh  =  (2 × 100 igrh + 70 igrh)

     =  200 igrh  + 70 igrh

     =  270 igrh

 vdNt>NjitahdrjtPjk;  =  15 50 5100 5 %
270 9 9

× = =

1. xUnjhifapd; 12%vd;gJ 1080 vdpy; mj;njhifiaf; fhz;f.

  njhif x vd;f.

  jug;gl;Ls;sJ> mj;njhifapd; 12%  =  1080

      
12
100

x×   = 1080

             x   =   1080 100 9000
12
×

=

     njhif   =  9000

2. 25 khzth;fspd; 72% Ngh; fzpjg; ghlj;jpy; jpwikahdth;fs; fzpjg; 

ghlj;jpy; jpwikaw;Nwhh; vj;jidg; Ngh;?

  fzpjj;jpy; jpwikahdth;fspd; rjtPjk;  = 72%
  fzpjj;jpy; jpwikkpf;fkhzth;fspd; vz;zpf;if =  25 khzth;fspy; 72%

         =  72 25
100

×

         =  18 khzth;fs;

           ‡ fzpjj; jpwikaw;Nwhh; vz;zpf;if =  25 − 18 = 7
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3. 240 iatpl 15% Fiwthd vz;izf; fhz;f?

  240y; 15%  =  15 240
200

×   = 36

  ‡ Njitahd vz; =  240 – 36   =  204

4. xUtPl;bd; tpiy 15 ,yl;rk; &ghapypUe;J 12 ,yl;rk; &ghaff; Fiwe;jJ 

vdpy; Fiwe;j rjtPjk; fhzTk;.

  Kjypy;>tPl;bd; tpiy =  15,00,000
  jw;Nghijatpiy  =  12,00,000
  tpiyapy; FiwT  =  15,00,000 − 12,00,000
     =  3,00,000

  ‡ Fiwe;j rjtPjk;   =  300000 100 20%
1500000

× =



�

A]\

1. xU khzth; jdJ Njh;tpy; 12 Nfs;tpfSf;F tpilaspj;J midj;J 

Nfs;tpfSf;Fk; KOkjpg;ngz; ngWfpwhh;. NkYk; mth; �0% kjpg;ngz; 

ngWfpwhh;. xt;nthU Nfs;tpfSf;Fk; rkkhd kjpg;ngz; mspf;fg;gl;lhy; 

Njh;tpy; Nfl;fg;gl;l nkhj;j tpdhf;fs; vj;jid. 

  60%  =   12 Question
         100% =   x
  60x = 12 × 100
             x = 20 Question

2. xU njhiyf;fhl;rp ngl;bapd; tpiy ��% cah;j;jg;gLfpwJ. me;j 

njhiyf;fhl;rp ngl;bapd; tpiyia gioa tpiyf;F nfhz;LtUtjw;F 

vj;jid rjtPjk; Fiwf;f Ntz;Lk;.

  
25100 100 20%

100 125
R

R
× = × =

+

3. xU tFg;giwapy; �00 khzth;fs; cs;sdh;. mth;fspy; �0% Ngh; 

fphpf;nfl;Lk;> �0 rjtPjk; fhy;ge;Jk;> kw;Wk; �0% Ngh; ,Utpisahl;LfisAk; 

tpisahLfpd;wdh;. ,e;j ,U tpisahl;ilAk; tpisahlhj egh;fs; vj;jid 

Ngh;.

 fphpf;nfl; (m) fhy;ge;J (m) ,uz;Lk; tpisahLgth;fspd; rjtPjk;

  P(A∪B)  =   P(A) + P(B)  –  P(A∩B)
   =   60 + 30  –  10
   = 80%
 ve;j tpisahl;ilAk; tpisahlhjth;fs; 20 Ngh;

4. xU khztDf;F Njh;tpy; Njh;r;rp ngWtjw;F Fiwe;jgl;rk; �0% kjpg;nz;fs; 

Njit. me;j khztd; �0 kjpg;ngz;fs; ngw;W �0 kjpg;ngz;fspy; Njhy;tp 

milfpwhd;. me;j Njh;tpd; mjpfgl;r kjpg;ngz; vt;tsT?

  50%  – 50 =   50 Marks
  50% = 50 + 50
  50% = 100 Marks
  100% = 200 Marks



�

A]\

5. xU efuj;jpy; cs;s 3>00>000 kf;fspy; 1>80>000 kf;fs; Mz;fs;. me;j 

efuj;jpy; �0% kf;fs; gbj;jth;fs;. NkYk; �0% Mz;fs; gbj;jth;fs; vdpy; 

gbj;j ngz;fs; vj;jid Ngh;?

 nkhj;j kf;fs; njhif =   3,00,000
   Mz;fs; =   1,80,000
   ngz;fs; =   1,20,000

 Mz;fspy; gbj;jth;fs; =   
701,80,000

100
×

     =   1,26,000

nkhj;;j kf;fspy; gbj;jth;fs; =   
503,00,000

100
×

     =   1,50,000
 ngz;fspy; gbj;jth;fs; =   1,50,000  − 1,26,000
     =   24,000

6. XU Njh;tpy; xt;nthU khztUk; ,aw;gpay; my;yJ fzpjk; my;yJ 

,uz;ilAk; Njh;T nra;aNtz;Lk;. 65.8 rjtPjk; khzth;fs; ,aw;gpaYk;> 59.2 

rjtPjk; khzth;fs; fzpjj;ijAk; Njh;T nra;fpd;wdh;. nkhj;j khzth;fs; 

2>000 Ngh; vdpy; fzpjk; kw;Wk; ,aw;gpay; ,uz;ilAk; Njh;T nra;j khzth;fs; 

vj;jid Ngh;.

 fzpjk; (m) ,aw;gpay; (m) ,uz;ilAk; Njh;T nra;jth;fspd; rjtPjk;  =  100%
 P(A∪B)
 P(A∪B) = P(A) + P(B) – P(A∩B)
 100 = 65.8 + 59.2 – P(A∩B)
 25% = P(A∩B) (,uz;ilAk; Njh;T nra;jth;fs;)

 P(A∩B) = 252000
100

×

 P(A∩B) = 500

7. X kw;Wk; Y %d;whk; vz;Zia tpl �0% kw;Wk; �8% Fiwthf cs;sJ. Y vd;w 

vz;zhdJ X vd;w vz;iz tpl vj;jid rjtpjk; Fiwthf cs;sJ.

 x =  80%

 y =  72%

 z =  100%

  =  
8 100

80
×   =  10%
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8. xU fzf;nfLg;gpy; 80% Ngh; fhh; kw;Wk; �0% Ngh; ifNgrp itj;Js;sdh;. ��%	
Ngh; fhh; kw;Wk; ifNgrp itj;Js;sdh; vdpy; fhh; my;yJ ifNgrp my;yJ 

,uz;ilAk; itj;Js;sth;fspd; rjtPjk; vt;tsT.

 fhh; (m) ifNgrp (m) ,uz;ilAk; itj;jpUg;gth;fspd; rjtpfpjk;

 P(A∪B) = P(A) + P(B) – P(A∩B)
  = 80 + 60 – 55
 P(A∪B) = 85%

9. mjpfhhp xUthpd; CjpakhdJ xt;nthU tUlKk; �0% cah;j;jg;gLfpwJ. 

mth;fspd; Cjpak; 2001y; &. 26640 vdpy; 1999 y; mthpd; Cjpak; vd;d?

 = 100 10026640
120 120

× ×

 = 18500

10. xU Kf;Nfhzj;jpd; cauk; �0% Fiwf;fg;gl;L mbg;gf;fk; �0% cah;j;jg;gl;lhy; 

gug;gstpy; Vw;gLk; khw;wk; vd;d?

 

½ bh
 b = 10
 h = 10
  = 100

½ bh
 b = 14
 h = 6
  = 84

  = 16% Fiwe;Js;sJ.

11. Nkhfd; vd;gth; jdJ tUkhdj;jpy;	�0% I czTf;fhf nryT nra;fpwhh;. kPjp 

cs;stw;wpy; �0% I  Nghf;Ftuj;jpw;fhf nryT nra;fpwhh;. kw;Wk; kPjp ,Ug;gjpy; 

�0% I Jzpf;fhf nrytpLfpwhh;. filrpapy; mth; &.630 Nrfhpj;jhy; mthpd; 

khj tUkhdk; vd;d?

 nkhj;j tUkhdk; = 100%
 czT = 40%  − kPjp = 60%

 Nghf;Ftuj;J = 5060
100

× = 30% − kPjp = 30%
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 Jzp = 3030
100

× = 9% − kPjp = 21%

 Nrkpg;G 21% = 630
  100% = 3000

12. xU Njh;T vOJk; 2000 khzth;fspy; 900 Ngh; Mz;fs;> kw;Wk; kPjpapUg;gth;fs; 

ngz;fs;. ��% Ngh; Mz;fs;> kw;Wk; �8% Ngh; ngz;fs; Njh;r;rp milfpd;wdh; 

vdpy; Njhy;tp mile;jth;fspd; rjtPjk; fhz;f.

 nkhj;j khzth;fs; = 2000

 

Mz;fs; =   900
Njh;r;rp =   32%
Njhy;tp =   68%

=   68900
100

×

=   612

ngz;fs; =   1100
Njh;r;rp =   38%
Njhy;tp =   62%

=   
621100

100
×

=   682

 nkhj;j Njhy;tp = 1294

 nkhj;j Njhy;tp rjtpfpjk; = 1294 100
2000

×

  = 64.7%

13. xU igapy; A tif Ngdhf;fs; 600-k; B tif Ngdhf;fs; 1200-k; cs;sJ. 

me;j igapy; ,Ue;J A tif Ngdhf;fs; ��% kw;Wk; B tif Ngdhf;fs; 

��% vLf;fg;gLfpwJ vdpy; me;j igapy; ,Ue;J vLf;fg;gl;l nkhj;j rjtPj 

Ngdhf;fspd; rjtPjk; fhz;f.

 nkhj;j Ngdhf;fs; = 600  +  1200  = 1800

 

Bag A

=   
12600
200

×

=   36

Bag B

=   
251200

100
×

=   300
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    = 
336 100

1800
×

 nkhj;j vLf;fg;gl;l Ngdhf;fspd; rjtpfpjk; = 18.6%

14. xU efuj;jpd; kf;fs; njhif xU gj;jhz;by; �,��,000y; ,Ue;J �,��,�00	Mf 

caUfpwJ. xU tUlj;jpw;F Vw;gLk; ruhrhp mjpfhpg;G vt;tsT?

 1,72,000 – 2,62,500

 10 Mz;by; cah;e;j kf;fs; njhif   = 90,500

 10 Mz;by; cah;e;j rjtpfpjk;   = 
90, 500 100

1, 75, 000
×

       = 51.71%

 xU Mz;bw;F Vw;gl;l ruhrhp mjpfhpg;G = 
51.7
10

       = 5.17%

15. A-d; tUkhdk; B-d; tUkhdj;ij tpl ��% mjpfkhf cs;sJ vdpy; B-d; 

tUkhdk; A-d; tUkhdj;ij tpl vt;tsT rjtPjk; Fiwthf cs;sJ?

  =  100
100

R
R
×

+

 =  33 100
133

×

 =  24.8 %

16. xU tl;lj;jpd; Muk; ��% mjpfhpf;fg;gl;l gpd; gug;G mjpfhpf;Fk; rjtPjk;

  

πr2

⇒	 r = 10

=  π	× 10 × 10

=  100 π

πr2

r ⇒	12.5

=  π	× 12.5 × 12.5

=  156.25 π

	 	 = 56.25% gug;G mjpfhpj;Js;sJ



��

A]\

17. uh[P xU khUjp tz;bapid> 3 Mz;LfSf;F Kd;dhy; &. 2 yl;rk; kjpg;gpw;F 

thq;fpdhh;. mjd; kjpg;G Mz;Lf;F ��% tPo;r;rpaile;jJ vdpy;> me;j khUjp 

tz;bapd; jw;Nghija kjpg;G vd;d?

  = 
75 75 752,00,000

100 100 100
× × ×

	 	 = 84375

18. utpapd; Cjpak; �0% Fiwf;fg;gl;L gpd;dh; cldbahf ��% cah;j;jg;gl;lhy; 

vj;jid rjtpfpjk; mth; ,oe;jhh;.

  = 
50 125 1100 62 %

100 100 2
× × =

  = 1100 62
2

−

	 	 = 137 %
2 	

Cjpak; mth; ,oe;Js;shh;.

19. xU nrt;tfj;jpd; ePsk; �0% mjpfhpf;fg;gLfpwJ kw;Wk; mjd; mfyk; �0% 

Fiwf;fg;gLfpwJ. vdpy; Gjpa nrt;tfj;jpd; gug;gsT

  

l =  10

b =  10

=  l × b

=  100 

l =  11

b  =  9

=  l × b

=  99

	 	 =  gug;G 1% Fiwe;Js;sJ.

20. xUthpd; rk;gsk; �0% Fiwf;fg;gLfpwJ. gioa rk;gsk; fpilf;Fkhdhy; 

mtuJ rk;gsk;

  =  100
100

R
R
×

−

 =  
10 100
90

×

 =  111 %
9

 cah;j;jg;gl Ntz;Lk;.
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21. xUth; jd;tUkhdj;jpy; ��% I nryT nra;fpwhh;. mtUila tUkhdk; �0%	
mjpfhpj;jNghJ mth; jd; nryit �0% mjpfhpj;jhy; mtUila Nrkpg;G 

vj;jid rjtPjk; mjpfhpf;Fk;?

  tUkhdk; – nryT = Nrkpg;G

	 	 100% – 75% = 25%

  120% – 82.5% = 37.5%

  Nrkpg;G = 12.5%  cah;e;Js;sJ.

  mjpfhpg;G rjtpfpjk; = 12.5 100
25

×

	 	 	 	 	 = 50%

22. xU Njh;jypy; �0% kf;fs; Ntl;ghsh; A-f;F Xl;lspj;jth;fs; kPjk; 

cs;sth;fspy; �0% kf;fs; Ntl;ghsh; B-f;F Xl;lspj;jth;fs;. kw;wth;fs; 

ahUf;Fk; Xl;lspf;ftpy;iy. Ntl;ghsh; A-f;F Xl;lspj;jth;fSf;Fk; Xl;Nl 

Nghlhjth;fSf;Fk; cs;s tpj;jpahrk; ��00 vd;why; ,e;j Njh;jypy; Xl;lspf;f 

jFjpAs;s nkhj;j kf;fs; vj;jid Ngh;?

  nkhj;j Xl;L  = 100%
 A-f;F Xl;lspj;jth;fs; = 30%

 B-f;F Xl;lspj;jth;fs; = 
6070 42%

100
× ⇒

 ahUf;Fk; Xl;lspf;fhjth;fs; = 28%
 A-f;F Xl;lspj;jth;fSf;F – ahUf;Fk; Xl;L Nghlhjth;fSf;Fk;

 cs;s tpj;jpahrk;  = 1200
 30% – 28% = 1200
             2% = 1200
    100% = 60000
 Xl;lspf;f jFjpAs;s

 nkhj;j kf;fs;  = 60000 Ngh;
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23. A-d; tUkhdk; B-d; tUkhdj;ij tpl �0% Fiwthf cs;sJ vdpy; B-d; 

tUkhdk; A-d; tUkhdj;ij tpl vt;tsT rjtPjk; mjpfkhf cs;sJ?

  =  100
100

R
R
×

−

 =  20 100
80

×

 =  25%

24. xU Njh;jypy;, xU Nghl;bahsh; nkhj;j rhpahd Xl;Lfs; ��%	I ngWfpwhh;. 

�0%	Xl;Lfs; nry;yhjit. nkhj;j Xl;;Lfs; ��00	vdpy;, kw;nwhU Nghl;bahsh; 

ngw;w nry;yj;jf;f Xl;Lfspd; vz;zpf;if vt;tsT?

  nkhj;j Xl;L = 100% =   7500

 nry;yhj Xl;L = 
207500 1500

100
× =

 rhpahd Xl;L = 7500 – 1500 = 6000
 kw;nwhU Nghl;bahsh; ngw;w rhpahd Xl;L 

 = 
456000 2700

100
× =

25. ngl;Nuhypd; tpiy �0% mjpfhpf;fg;gl;lhy; xU fhh; chpikahsh; gioa 

nryitNa jf;f itf;f Efh;it vt;tsT Fiwf;f Ntz;Lk;.

  =  100
100

R
R
×

+

 =  30 100
130

×

 =  123 %
13
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26. xU Gj;jfj;jpd; tpiy Kjypy; ��% Fiwf;fg;gl;L gpd;dh; �0%	
mjpfhpf;fg;gLfpwJ. tpiyapy; Vw;gLk; epfu khw;wk; vd;d?

 =  75 120100
100 100

× ×

 =  90

 Gj;jfj;jpd; tpiy 10%  Fiwe;Js;sJ.

gapw;rp tpdhf;fs;

1. xU njhifapd; ��%	�080 vdpy; mj;njhifiaf; fhz;f.

 me;j njhif ‘x’ vd nfhs;f

 12 1080
100

x =

	
x =   1080 100 9000

12
x×

⇒ =

2. �� khzth;fspy;	 ��% Ngh; fzpjg;ghlj;jpy; jpwikahdth;fs;. fzpjg; 

ghlj;jpy; jpwikaw;Nwhh; vj;jid Ngh;?

 nkhj;j khzth;fs; = 25%
 jpwikahdth;fs; = 72%
 jpwikaw;Nwhh; = 28%

   = 
2825

100
×

   = 7

3. ��0 I tpl ��% Fiwthd vz;izf; fhz;f.

 x =   85240
100

×

	
x =   204
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4. xU tPl;bd; tpiy 15 ,yl;rk; &ghapypUe;J 12 ,yl;rk; &ghahff; Fiwe;jJ 

vdpy; Fiwe;j rjtPjk; fhzTk;.

 15 ,yl;rk; – 15 ,yl;rk; = 3 ,yl;rk;

 FiwT rjtpfpjk; = 
3 100

15
×

    = 20%

5. xU $ilapYs;s 25 goq;fspy; 5 MuQ;Rg; goq;fs; vdpy; MuQ;Rg; goq;fspd; 

rjtPjk; .......

 =   
5 100
25

×

	
=   20%

6. xU ghl;bypy; cs;s nkhj;j gp];fl;Lfspd; vz;zpf;ifapy; ��% gp];fl;Lfs; 

30 vdpy;> gp];fl;Lfspd; nkhj;j vz;zpf;if...

 
15

100
x  =   30

	 									
x =   200

7. nrd;w Mz;L xU ];$l;lhpd; tpiy ` 34>000. ,e;j Mz;L ,jd; tpiy ��%	
$Ljyhfpd;wJ. mf;$Ljy; njhif....

 = 
2534000

100
×

	
=   8500

8. khj tUkhdk; ̀  20>000 ngWk; egh; xUth; xt;nthU khjKk; ̀  3>000 I Nrkpg;G 

nra;fpd;whh; vdpy;> mtUila khjr; Nrkpg;Gr; rjtPjk;........

 = 
3000 100
20000

×

	 =   15%
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9. xU njhifapy; �.�% vd;gJ ` 54.25 vdpy;> mj;njhifiaf; fhz;f.

 me;j njhif ‘x’ vd nfhs;f

 
3.5
100

x   =    54.25

	 	 x =   
54.25 100

3.5
×

 	 x =   1550

10. nkhj;j Neuj;jpy; �0% vd;gJ �0 epkplq;fshFk; vdpy;> me;j nkhj;j Neuj;ijf; 

fzf;fplTk;.

 nkhj;j Neuk; ‘x’ vd nfhs;f

 
4

100
x  =    30 min

 	 x =   50 min

11. xU nghUis tpw;wjpy; �% tpw;gid thp tPjk; ` 2 thp nrYj;jpdhy;> mth; 

vd;d tpiyf;F tpw;wpUg;ghh;?

 
4x

100
×   =    2

  x = 
2 100

4
×

 

 	 x =   50

12. kPD jd;Dila rk;gsj;jpy; �% I mjhtJ ` 2000 I> nghOJ Nghf;fpw;Fr; 

nrytpl;lhy; mtUila rk;gsk; vd;d?

 kPD rk;gsk; ‘x’ vd nfhs;f

 
5

100
x  =    2000

 	 x =   40000
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13. xU $ilapYs;s nkhj;j goq;fspy; ��% mOfpait. mOfpa khk;goq;fspd; 

vz;zpf;if ���0 vdpy; nkhj;jg; goq;fspd; vz;zpf;ifiaf; fhz;f. NkYk; 

ey;y khk;goq;fspd; vz;zpf;ifiaAk; fhz;f.

 mOfpa khk;goq;fs; 25% = 1250
 nkhj;j khk;goq;fs; 100% = 5000
 ey;y khk;goq;fs; 100%  = 5000 – 1250
     = 3750

14. xU nghk;ikapd; Fwpj;j tpiy ` 1200. filf;fhuh; ��% js;Sgb tpiyapy; 

nfhLj;jhh; vdpy;> nghk;ikapd; tpw;gid tpiy vd;d?

 =    
851200

100
×

 	=   1020

15. xU cNyhff; fyitapy; �0% jhkpuk;> �0% Jj;jehfk;> kPjp epf;fy; cs;sJ. 20 

fp.fp cs;s ,e;j cNyhff; fyitapy; epf;fypd; msT ahJ?

 nkhj;j cNyhf fyit = 100% = 20kg
 jhkpuk; = 30% 
 Jj;jehfk; = 40%
 kPjp (epf;fy;) = 30%

   = 
3020

100
×

   = 6kg

16. Cuhl;rp cWg;gpdh; Njh;jypy; jhkiu kw;Wk; ghz;bad; Mfpa ,Uth; 

Nghl;bapl;ldh;. nkhj;j thf;Ffspy; ��% mjhtJ ��,�8� thf;Ffs; 

ghz;baDf;Ff; fpilj;jd. jhkiuf;F ��% thf;Ffs; fpilj;jd.

 (i)  ,f;fpuhkj;jpy; gjpthd nkhj;j thf;Ffspd; vz;zpf;if ahJ?

 (ii)  Nghl;bapl;l ,UtUf;Fk; thf;fspf;fhjth;fs; vj;jid Ngh;?

 nkhj;j Xl;L   = 100%
 ghz;bad; ngw;w Xl;L (44%) = 11484
   1%  = 261
   100%  = 26100
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 jhkiu ngw;w Xl;L  = 36%
 ahUf;Fk; Xl;lspf;fhjth;fs; = 20%
     = 20 × 261
     = 5220

17. xUth; jk; tUkhdj;jpy; �0% czTf;fhfTk;> ��% cilf;fhfTk;> �0% tPl;L 

thliff;fhfTk; nrytpLfpd;whh;. kPjpiar; Nrkpf;fpd;whh;. mth; tUkhdk; 

` ��,�00 vdpy;> mth; vt;tsT Nrkpf;fpd;whh;?

 nkhj;j tUkhdk; =   34400 =   100%
   czT  =   40%
   cil  =   15%
   thlif =   20%
     =			 75%
   Nrkpg;G  =   25%

     =   2534400
100

×
	 	 	 	 	 =   8600

18. xU njhopyhsp ` 11>250 Cf;fj;njhifahfg; ngWfpd;whh;. ,j;njhif 

mth; jk; Mz;L tUkhdj;jpy; ��% vdpy;> mthpd; khj tUkhdk; 

vd;d?

 nkhj;j Mz;L tUkhdk;    =    100% =   x

         
15%
100

x   =    11,250 11, 250  100 x
15
×

⇒ =

	 	 	 x =   75000

 khj tUkhdk; =   
75000

12
    =   6250


